Starting at the card with 3 in the corner, calculate the solution. Find the card with that
answer in the corner and solve, continue until all cards have been used, you should “loop”
back to the card with 3 as the answer . Record the sequence of answers.

‘A | B B
lfn=3, ft=7,
2 3 Ifp=14, If r =20, Ifk=8
DALY WL what is what is what is’
3timesn 2 multiplied 582 441 =32 2% Kk-1?
subtract 27 by t? pX A e (A1) 37 xk-17
It d = 15, If f =5, If s = 30, If w = 57, If g =28,
what is 20 what is what is what is what is
subtract d? 6 x f? 87 - s? w - 297 (q+4)+4?
11 :l
Ify =11, i g=22, If h = 66, Ifj =8, o
what is what is what is what is
times 27 3xg? h+112 2xj-37 £8dd ¢
Y RI0eSx 9 2k divided by 47
B.... B
fx=4 what is Ifv=2 Ifb=13, Ifn=23,
what is subtract 46 o a_t is’ what is what Is
7 times vand | from double IRES A2 double b half of
subtract 4? the value ; subtract 3? {n+1)?
of c?
: -
Iifr=16,
ifm=12, Ifq=10, If w = 25, Ife=1, what is three
what is what is what Is what is subtracted
5xmz:6? qx2+5? (w-15) = 10? 14xe+2? from two
times r?
Ift =28, ty =18, It u =19, Hpoy Its =21,
what Is what is half of what is p subtracted what is
tx2-140? y add 10? ux3-31? trom 472 s+77




